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Combined Graduate Level Examination 2020 Tier-I

[Roll Number

Candidate Name

Venue Name iON Digital Zone iDZ Bahadurgarh Patiala

Exam Date 18/08/2021

Exam Time 12:00 PM - 1:00 PM

Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 Ry g fereal # @ ag guf-wwgg gA st FafafEa siaer & usiRg (?) & = R smgm?

NZK, MBH, LDE, KFB, ?
2 1. HIY
< 2. JHX

7 3.JHZ

Ans

o 4. JHY

Question ID : 81616114020
Status : Answered
Chosen Option : 4

Q.2 A 9r gof-ugg Ry 1y & A= @ = feft Hesf & gar war € ofk 379 @ ge o 8139
ST JUi-Tg T T 1|

< 1.DHSP
X 2.TXCZ

Ans

« 3.NRJG
% 4. FJQN

Question ID : 81616112709
Status : Answered
Chosen Option : 3

Q.3 ag uel feeu g Sit Ry 71y 21egi o6l 39 o A g21far @ 9w o 7 3 sidsh areganier # omd €1

1. Turban

2. Terminator
3. Twister

4. Temptation
5. Terrorism

X 1.4,2,1,35
X 2.41,325
& 3.4,251,3
X 4.4521,3

Ans

Question ID : 81616112708
Status : Answered
Chosen Option: 3
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Q.4 foreht fafre gevmor &, 'NOSTALGIA' &l ‘81’ & ®u H Feag fohar ma §, &t I« wmur #
‘FRICTION’ =h} & reeieg faar siTgmm?

Ans X 1.85
% 2.105
X 3.36
o 4.64

Question ID : 81616114027
Status : Not Answered
Chosen Option : --

Q.5 ¥ 9R oreg Ry 1w & fo=d @ = foneft Tigaf A gear o= € ok 379 @ Uer 3riTTa @1 39 ST
2TeZ T T &R

Ans o 1. AR
X 2. g3 fasive
2< 3. et foRiwg
&5 4. gea-am v

Question ID : 81616114023
Status : Answered
Chosen Option: 1

Q.6 g faeeu g Sit fieR 1oz & I R Hifda &, fHT UpR gor o5 uget 2res @ Hefda g1
ghR : famwar: : PArram: 2
Ans X 1.3
oF 2. 3T
< 3.3
< 4. faure

Question ID : 81616112711
Status : Answered
Chosen Option : 2

Q.7 mﬁmﬁmwma;ﬁlﬂﬁmmmaﬁg’rm
78 +48x 8+ (26 x7) —39 + (45 + 15) = 210
Ans X 1.263fR15
X 2,453k 48
X 3.78 3k 45
o 4.48 3R 39

Question ID : 81616114036
Status : Answered
Chosen Option : 4
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Q.8 39 fasea o1 g+ g Siwds gl & aea agt d@eay g, st Ry g ereg-gma & 2real A 1
AR : Ot g
Ans o 1.7 e
X 2. Trsshifar : e
< 3. g8M : demfar
<A, ST - 8RR

Question ID : 81616114025
Status : Answered
Chosen Option: 1

Q.9 foreft faf2re gevmsT & 'SURROUND' st 'RRUSDNUO’ & %4 # forar sirar &1 &t It smor &
‘MITIGATE’ aht &t forar stremm?

Ans X 1.ITIEMTAG
& 2. ITIMETGA
< 3. TIMTEAG
o 4. ITIMETAG

Question ID : 81616114127
Status : Answered
Chosen Option : 4

Q.10 A 9r TEar-gm Ry g & O & i Rl deef § ga T & ofk 37 @ T ardiTa 21 59
ST HET-TH Rl T H |
Ans X 1.25:631
X 2.21:447
«" 3.30:908

7€ 4.22:490

Question ID : 81616114033
Status : Answered
Chosen Option: 3

Q.11 ag e g Wit =ieft e | St R d@d6fa g, O ver gus e @ uge! T sk a6t
T @ gt T 96t g1
83:3::7:5::258:4
Ans X 1.527
X 2.222
o 3.627
X< 4.123

QuestionID : 81616114133
Status : Answered
Chosen Option: 3
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Q12 gfy zdor = MN 9T & ST § & BT o0 @0 &1 w9 gdur sfafde aafe Hifse?

4582169

T QeoLZ8ch
@0 FrS8ch
@O TNTS8Gh
~691rS8aV

Question ID : 81616114042
Status : Answered
Chosen Option : 2

Q.13 GaRfEe &7 3w &, o7 i & el & &, o0 ‘Taaa” # B war ¢ dR
T Afgene H FRRE war §1 & o v 5@ R Aof & swfEadt $ e & g §

&)
\/
ans 1 B0
X2 57
X3 36
X4 54

Question ID : 81616114145
Status : Answered
Chosen Option: 1
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Q14 fau av Reedt & ¥ 98 HHia o St FeAfoiad @ d geafed (?) & T W T
THAT B

Y i & £ i

F
L
X 2
¥
Y
X 3
£
m
X 4
£

Question ID : 81616112725
Status : Answered
Chosen Option: 1

Q.15 31eRi & I TS I T o Sit &) 7S sjzaer & R Rl F shfds 0 @ W@ S R sjzasn &t
guf &I

K_CTQ_OC__KO_.T_KO_TT
Ans X 1.0,K,URC,S C
X 2.0KTRCTC
X 3.PKTRCSC
& 4.0,KTRC,S,C

Question ID : 81616114028
Status : Not Answered
Chosen Option : --
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Q.16 10 5[ 2011 ! TATE I HI=-TT 7 =12
Ans X 1.3f@Rr

o 2. LR

X 3. TR

X4 ufFEr

Question ID : 81616114037
Status : Not Answered
Chosen Option : --

Q.17 ag faere g7 o STy uah R @ St avg 9 |@6fq § 5@ = g 7o de H dw=ad v
TR @ Hafdd g

(18, 24, 144)
Ans X 1.(18,20,137)
o 2. (26,15,130)
% 3.(22,18, 246)
X 4.(16,12,109)

Question ID : 81616114035
Status : Answered
Chosen Option : 1

Q.18 ag faeheu g+ o Ty uah R @ St avg 9 H@6fda § 518 = g 1w 9 f dw=d v
TR @ Hafdd g

(5,11, 275)
Ans X 1.(6,18,180)
X 2.(8,14, 490)
o 3. (4,16, 256)
X 4.(9,15,270)

Question ID : 81616114135
Status : Not Answered
Chosen Option : --

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

O 7 fweT o o & T gl F wfARE ety # ogEer A )

Ans

&S
<~ AR
&
B

AR

Question ID : 81616114041
Status : Answered
Chosen Option : 2

00 & o gy # e e 32

Ans

v 113
X214
X315
X412

Question ID : 81616114039
Status : Answered
Chosen Option: 1
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U2 e gl F T & vk g F AeS F FA N 3W 73 g IO
F FIeA FT JUHT SAAT TAT §| T FETS & Wieled 9 Tg HaT1 T@=m?

Ans

Question ID : 81616114043
Status : Answered
Chosen Option : 4
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Q.22 afe’‘A#B w1l g fF ‘BRI aga A g iR 'A @ B’ <1 a1ef & foh ‘B v af A &', Y fore =tivTan ot

Ans

sfgfr Fhrarcg?
X1.CQH#M@F
X 2H@C#M#F
X3 F@H#M#C
¥ 4LC@H#MHF

Question ID : 81616114029
Status : Not Answered
Chosen Option : --

Q.23 Ry g Fu=T ok frewst @t e @ w1 FUT A € 7 SRR Sl 9 A g, W 8 a8

Ans

I w4 § 719 d] @ 0= udia g, RufRa &R & = @ Ao g 1o =i o arfdes &g
@ SITERT A §

HYA:

gt e, ‘wifRs & awqy’ &1
g ot ‘wfRe fi avg, TR TE 8
Toft FTarfeal TR &1

forsentf:
1. &g oft e, ARt TE 81
Il. T oft ‘=R i avg, TR TS 81
IIl. F& TehRfeal, Fa &t Tahdt &1
X 1. had R | SIgER0T T &
o 2. had s | 3R || SIgaRor R §
7 3. @it Rreepef argeRor ahed §

< 4. %hae ey |1 SIgERUT T §

Question ID : 81616114131
Status : Answered
Chosen Option : 2

Q.24 Ry g Rereul 7 d ag v g sit Fafafas efaer 7 vsfRg (7) & == w engft?

Ans

6,7,23,41,125,?
% 1.354
X 2.345

o 3.245
X 4.254

Question ID : 81616112718
Status : Answered
Chosen Option: 1
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Q25 =7 gt TUe FY g & 7S ofiT # =AW AEST S S R B

=|m[>]

P
T
J

D IS
v g o Ty FE TEE ST Eea ¥
X2 Fger A R C

X3 Fger A 3R D
X4 Faag C Ak D

Question ID : 81616114040
Status : Answered
Chosen Option: 1

Section : General Awareness

Q.1 A= # | I TT FUTTIS Y21 1 Qe [SieT-Tg-udfed giewuie 87
Ans X 1. SAUTSET

o 2. @i

X 3. aifeidi

X 4. SrefgRgR

Question ID : 81616114055
Status : Answered
Chosen Option : 1

Q.2 Which of the following is the Sl unit for measuring the amount of a substance?
Ans ¢ 1. mole (mol)

25 2. candela (cd)
< 3. metre (m)
25 4. kelvin (K)

Question ID : 81616112737
Status : Answered
Chosen Option: 1

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q3 __, &thel & RO @ WRA & 9o 927 dhg;, AT TR 21
Ans o 1.5 3R R

X 2. <<NTe

X 3.

X 4. ggd

Question ID : 81616112743
Status : Answered
Chosen Option: 1

Q.4 '16-T7E fe e ey & & fhe @ & Haifda 82
Ans X 1.dFFE

X 2. Mew

X 3. foRdhe

oF 4. Thice gihr

Question ID : 81616114167
Status : Answered
Chosen Option : 4

=

Q.5 SR fFa girer Tare fi surf A2
Ans X 1. 3R

o 2. I
X 3. mgsTEl
K 4. aR

Question ID : 81616114058
Status : Answered
Chosen Option: 2

_—

Q.6 _____ & fog a=mg g Fawt o6t ‘fRmraftes’ ame gwaes d forar mar am
Ans X 1. 3wl

o 2. dig Ty

< 3. feimmaat

X 4. h Uy

Question ID : 81616114161
Status : Not Answered
Chosen Option : --
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Q.7 ‘89§ IS< - Y g 3T f3hehe’ (Men in White - A Book of Cricket) ATHeh q&ieh & o1eh i
&

Ans X 1. 95T AR
X 2. ifar AeEeRr
o 3. 95d haad
X 4 guf ot

Question ID : 81616114062
Status : Answered
Chosen Option : 4

Q.8 St 2021 Ak UTH SR & SFHR WRAH SwegfaRe urél & Agrafag &+ &7
Ans X 1. Q9. guTe @

2 2. gardad

o 3. 8w

X 4. o Tshadt

Question ID : 81616114063
Status : Answered
Chosen Option : 1

Q.9 fFd ae & uRHY] gTESe & A1y A S1e a4 &2
Ans X 1. d18geH

X 2. A

X 3. @A

o 4. Siferfier

Question ID : 81616114150
Status : Answered
Chosen Option : 4

Q.10 2020 H, TIeiehTal UIE g% BT ATH dedhe o< far mam
Ans X 1. sff oRfoal o

X 2. AHGWT g

o 3. T TG HEstl gie

X 4. QI 95 S g

Question ID : 81616112756
Status : Answered
Chosen Option : 4
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Q.11 Tt = & @ shgl & AOraRT ZIRT SSTraT STarer 431 g8 St 9T Qe arel 85 872

Ans X 1. ufgef fogr
2< 2. ufgeht et
o 3. Ui TeemE
X 4. afsyet Mar

Question ID : 81616114046
Status : Answered
Chosen Option: 3

Q.12 Weber per second is equivalent to

Ans X 1.coulomb
< 2.ohm

o 3.volt
25 4. ampere

Question ID : 81616114053
Status : Answered
Chosen Option : 3

Q.13 1977 &, ST UTd] & 31emel hid a1, fS=gia wer=is & wu & AiRRel 391E & a1y g &

TSI TRRR F1E?

Ans X 1. S B
o 2. 75 =R
X 3. o flg
X 4. Aycsad

_

=

Question ID : 81616114064
Status : Answered
Chosen Option: 3

Q.14 3mME.W1.3MR. (IPR) 1956 WRd i g gerT a1 ge SR ot

Ans X 1.=gd
o 2. &
5 3. uuH

X 4.3

Question ID : 81616114047
Status : Answered
Chosen Option : 2
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Q.15 _____ God-d UR AR €21 hT AT ATI
Ans X 1.fceh

252, TR

X 3.9AR

o 4. SR

Question ID : 81616114158
Status : Answered
Chosen Option : 4

Q.16 =1 & & wi=-a1 AT ok e & &= 7 arer & fog Rar s arer g Reer 82
Ans X 1. SUTERS GRERR

X 2. IS QRERR

o 3. 2ifd WEY AR (SSB) [REhR

X 4. 9Ty HeR RERR

Question ID : 81616112748
Status : Answered
Chosen Option: 3

=

Q.17 Sravshidsr Rafae @« A fR@a g
Ans X 1. fguTae mear

2. TREs

< 3. 7BRE

o 4. IR

Question ID : 81616114059
Status : Answered
Chosen Option : 4

Q.18 ﬁwﬁﬂaﬁﬂ-mﬂﬂﬁﬂiﬁﬁm(\‘rﬁa@ﬂﬁ;é?
Ans X 1. St gER

< 2. Tifert

o 3. fEuhifar

X 4. w3

Question ID : 81616114051
Status : Answered
Chosen Option : 3
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Q.19 @l ik ufawuufai # Icpe ufawreil o awnfaa &= & g gar amet ok @« w#area g1
s REER Ru s &1 58 # 3 fovam wam ami

Ans X 1.1969
2< 2.1956
7 3.1947
o 4.1967

Question ID : 81616112752
Status : Answered
Chosen Option : 4

Q.20 SR &FH ____ iR RIFIT &, Tharurd harutfed &t i e & sy #=man s 81
Ans o 1. TETE

25 2. Taws

X 3.8

X 4. g

Question ID : 81616114146
Status : Answered
Chosen Option : 3

Q.21 fay o8 fRaw 2021 wRa & STHE 2021 Y BT 4T
Ans X 1.31

X 2.22
X 3.25
o 4.30

Question ID : 81616114068
Status : Answered
Chosen Option : 1

=

Q.22 fA=1 & 9 foFa 3o & A1 Fiverreer st AT g AE R &2
Ans o 1. ATTCIS

2. A
X 3. fg
< 4. BeTerg

Question ID : 81616114054
Status : Answered
Chosen Option : 1
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Q.23 =1 & & wie-a1 #ATerd 2020 # 3= Fi T w@nfie (SVAMITVA) aterT & shraf<a- & fog
W (s #ATea 87

Ans X 1. e ST
< 2. Y 3R fAgT heror Halter
o 3. U I HATer
< 4. aEd ofik ot fareere wTem

Question ID : 81616112754
Status : Answered
Chosen Option : 4

Q.24 YR ______ HI Teh 3h1S &1
Ans o 1.

&K 2.9

25 3. R

K 4=

Question ID : 81616114153
Status : Answered
Chosen Option : 1

=

Q.25 HiYEl ZRT el sl Me A7 & Hefdd ges FisH1 'SAGY’ R 6l 1€ off1 SAGY & 'A' a1 31ef ot 82
Ans X 1. Anubhav (31g¥9)

< 2. Atmanirbhar (3TeTHR)

#< 3. Apna (379T)

" 4. Adarsh (3mmazf)

Question ID : 81616114048
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q1 A G w5 # 60 ReT & 9w #¢ Twar ¥1 B, A & 26% 0% Fu §1 ¥ vw @ 15 R 7%
F §1 3 C, 99 F F A4 fom F W a1 ¢ T B IR C, AT FH F 1 A9 A e
oz & @ w6

Ans X1 18 ﬁ?l'
X215 fa=
vi12 =
x4 16 e

Question ID : 81616114078
Status : Answered
Chosen Option : 3
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Q.2 Ina trapezium PQRS, PQ is parallel to RS and diagonals PR and QS intersect at O. If PQ =4 cm, SR = 10 cm, then
what is area(APOQ) : area(ASQOR) ?

Ans X1, 2:3
<2 4:0
3 4:25
X4 2:5

Question ID : 81616112773
Status : Not Answered
Chosen Option : --

Q3 gfy 5sin20—4cosO—4=08 0°<0<90° ¥, & (cotd +cosecd) FT AT AT T

Ans e E
2
. 2
X2 =
3
x 3 Ve
3
; 3
X4 =
2
Question ID : 81616114088
Status : Not Answered
Chosen Option : --
Q.4 fmr Ty ST A 5S¢ & dive True A 3t B F suewiiie geTsa & BT Amiteg et g
USR]

E BB g &8

E

amifad sl @ den

e 8

360 3
» = 35
50 260
160)  HRFA
s HWYHEB
2014 2015 2016 200 2018
f
2014, 2016 3T 2018 F R Txu= A & AT ont & 3iwa gEwm, 2017 & S s = B &
FHIRT T Fr & @ fae g FH (S & SuFEeT T d%) 27
Ans X 1. 22.46%
2 26.15%
X3 32.75%

X4 2917%

QuestionID: 81616113183
Status : Answered
Chosen Option : 2
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Q5 IR x+y+z=1 xy+yz+zx=xyz=—4 § @ (F+y*+2°) F AT AF F
Ans ¢ 1. -8

K2 =1
X3 8
4 1

Question ID : 81616114083

Status : Not Answered
Chosen Option : --

Q.6 A Fr 3, B $T ¥ ¥ 20% FF ¢ 3 C & 37, A 3t B Fr a3 F dvrwer @ 70% 21 D Fr 3,
C & 31 & 25% 3o ¥ afy B 3 D #r 3= & €= FaT 223,000 §, @ A F 3w (2 H) 7T F4U

Ans - x1. 26,000
v 2 32,000
x 3. 28,000
x4.25,000

Question ID : 81616114074
Status : Answered
Chosen Option : 2

Y FT OeF FT AT AT HY
6+40f3—4+-6%X(13—10)—2x15+6X6

Ans

X1 —292
17
X2 —27=
2
x3 —192
2
o4 =312
2

Question ID : 81616112758
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.8 & w afem = aewEE FT A#Y T = 3R F

2018 % 9ge ©F el & e A, B, C, D 3t E Srorl canr o= 7% FRi FHr m=m

=

dor |t |wwd e |wdw |wE |sw
A 620 640 628 635 430 625
B 600 642 635 580 450 620
|y 640 635 640 540 625 740
D 520 645 722 740 600 780
E 548 638 720 740 650 800

waln, e i 7 F SR C cEnr 8= T FR Fr sited wEmn, el # S E ganr a= T SRt
Fraem T x ¥OFF x FHEA & &= greml

Ane X1 45 3T 50
X2 40 R 45
X3 55 3T 80
v 4 50 AR 55

QuestionID : 81616114193
Status : Not Answered
Chosen Option : --

Q'g COSQI:'Z SQI‘IZ .
IR tan® = V5@, ar L1 8 o o AT F

cosec?f — secf

Ans 7 d
X1 —=
5
3
X2 =
2
7
X 3.5
5
3
4 —=
2

QuestionID: 81616113180
Status : Not Answered
Chosen Option : --

Q10 oy o1 w7 & TS gy o7 23,125 &7 UMY +% o w@ghe &= &7 & 3 9 § 23,515.20
2 S ¥ 33 ofr 9T 39 AR § (v +2)% S &Y 9 @TUNOT ST (2 H) A #i

Ans X 1. 565.50
X2 550
< 3. 554
« 4 562.50

Question ID : 81616114077
Status : Not Answered
Chosen Option : --
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Q.11

Ans

A chord AB of circle C; of radius 17 cm touches circle €, which is concentric to C, . The radius of €, is 8 em. What is
the length (in cm) of AB?

X125
X2 24
3 30
X 4. 20

Question ID : 81616114084
Status : Answered
Chosen Option: 3

Q.12

Ans

sec P (cos R + sinP)

FTHT AT FY
cosec R(sinR — cosec P) el

APQRE, £Q=90°%1 TfX tanR = ;% ar

Question ID : 81616113584
Status : Not Answered
Chosen Option : --

=

Q.13

Ans

2010 & 2014 &% W= I9 1 ¥ & Gl v F9=r g7 @fFT A, B ik ¢ d9 ==-foee
e (FeE) ST gt fY AT (A aiae &) 9% O § g o

5 2
8
38 B g
2 SR (W) A
u e (W) B
i = I (RE) C

2010 2011 2012 2013 . 2014

2012 # F4I€ (Fore) A FT 3c9e, §o aut & F=g (Feraw) B & 3itEa 3cqea @ fhaer wfeg &8
&2 (cude & a7 T O WE)

X 1. 6.98%
X2 3.87%
« 3 5.66%
X4 4.66%

El

I (R e H)
EE88888 38

0

Question ID: 81616113185
Status : Not Answered
Chosen Option : --
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Q.14 & =% mfde F sreaaa 53 3T o &7 3oe7 &

2018 ¥ 9ge ©F HEAT & S A, B, C, D 3T E ot ganr &= ¢ &t & gz

FRAT
e ECcey wE AT e | AT GGl
A 620 640 628 635 430 625
B 600 642 635 580 450 620
e 640 635 640 540 625 740
D 520 845 722 740 600 780
E 548 638 720 740 650 800

e # S B 3 E 3 3= o1¢ FR1 & A we w7 80%, WAl # 9w C 3k D @Ew e g
FRT 1 T ¥ e viieg w1 ¥

ans X1 15%
v2 17.5%
X2 12.5%
X 4.16%

QuestionID : 81616114195
Status : Not Answered
Chosen Option : --

Q15 Ffy 5.3 are &I 688xy, 3, 7 3T 11 ¥ Rer=a &, @ Gx+3y) & A A B
Ans X143

v 2 39

X3 23

x4 36

Question ID : 81616114070
Status : Answered
Chosen Option: 2

Q.16 gl =xg =r T131.25 & 49, U =0T &1 95 & FT TeT F S F aeT Fawd F et @
40% W I F & o9, IW arg & B Jed 9 (T H) q== g

Ans - X1.100
¥ 2. 105
X375
<4140

Question ID : 81616112762
Status : Not Answered
Chosen Option : --
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Q.17 ABCD, = =gs[= ¥1 AB 3k DC =aw 51y W F ¥ &=l §1 AD 3R BC 7 730 Sl W ¥ E X

oot &1 IfE ~BAD = 68° 3T <AEB = 27° &, &7 #BFC & AT 71 #1I

Ans s 17¢

X2 27°
X3 220
x4 150

Question ID : 81616114085
Status : Answered
Chosen Option: 1

Q.18

Ans

I x2—5vV2x+1=0 %, Fﬂ'@ FT AF AT FLI

x2 41
x 1 2642

5

Xz.&‘”'E

5

2442

5

& 3.

7(4.&‘“"E

5

QuestionID: 81616114183
Status : Not Answered
Chosen Option : --

Q.19

Ans

765 9 m? #r T @, R WA FAL AT G W CEeH o B AT 29,100 ¥ wHL HT owe
A =g & T 7 0 5 ¥ FEL F Y 9RAN (m H) 79 =)

X1 28.8
X224
3 48
x4 36

Question ID : 81616114080

Status : Not Answered
Chosen Option : --
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Q20 A B CARDFAT6I2H TN F3:4:8:6 3 Ua A @ g1 Bk D ¥
et & e (7 H) 3 A9 Hi

Ans X 1. 3906
< 2.7302
x3. 21,510
4 2604

Question ID : 81616114177
Status : Answered
Chosen Option : 4

Q21 v gFmeERr, v TG F 3% T TET W 30% T W miear ¢ g & sifa gew W 5%
TE &1 % Wg TG F d=T § I a7 265 & AT FAH g, o T5G F A 7pd (2 H) A9 FU

Ans X1. 292.50
X2 325
X3 227.50
4 260

Question ID : 81616114174
Status : Answered
Chosen Option : 4

Q.22 sABC, weg e #1 T BC R s Mg Ds@ v £ & BD : BC.= 1:3 ¥ AfX AD = 577
cm%‘,a’rﬁgsra?rsgmmﬁl

Ans X120 cm
<218 cm
<312 cm
¥4 15 cm

Question ID : 81616114087
Status : Not Answered
Chosen Option : --

Q.23 2 ] ,
(sz — :—c) ¥ TSR & =X 9 (constant term) #TT FY|
Ans o g 75

v2 15

X35

X4 =15

Question ID : 81616112768
Status : Not Answered
Chosen Option : --
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Q.24 zg Feont & stEa 325 31 9ger I gt # AEa 25.6 ¥ v dfaw &= demnst & stee 38.2
&1 oTeEr HE, odr e @ 50% HEw § dk wedt g @ 8 w5 § arweEt it wradt geam @
At 73 w1

A g1 415
X2 41
X3 42.4
X4 42

Question ID : 81616114072
Status : Not Answered
Chosen Option : --

Q25 & FRT W, AT TE X T Y F v ae § 6 W me Y @ X & B aeh § o aw &
ﬁaﬁﬂsm,gﬁﬂ&ﬁri‘@mYsﬁrxwmrz3@12%3&@@48%:&@
T afE @ # A 9 kmvh §, & AT B T (kmh #) A1 HL

Ans X1- 71
2

X2 6

v3 62
4

X4 8

QuestionID: 81616114180
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate ANTONYM of the given word.
Comfort
Ans X 1.Enjoyment
" 2. Discontentment
< 3. Luxury
75 4. Happiness

Question ID : 81616112798
Status : Answered
Chosen Option: 2
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Q.2

Ans

Select the option that expresses the given sentence in reported speech.

The policeman said, “It is clear that this is the work of a professional robber”.
< 1. The policeman said it was clear that is the work of a professional robber.

# 2. The policeman said that it was clear that that was the work of a professional robber.

< 3. The policeman said that it must be clear that this was the work of a professional
robber.
< 4. The policeman said that it had been clearly the work of a professional robber.

Question ID : 81616114098
Status : Answered
Chosen Option : 2

Q.3

Ans

Select the most appropriate synonym of the given word.

Brat
< 1. Rich person

< 2. Plump lady
25 3. Wise man
" 4. Spoilt child

QuestionID : 81616114109
Status : Answered
Chosen Option : 2

Q.4

Ans

The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

Four of earliest civilisations / of the world / were located / on the banks of or near large
rivers.

" 1. Four of earliest civilisations
25 2. of the world
< 3. were located on the banks of

< 4. or near large rivers

Question ID: 81616114196
Status : Answered
Chosen Option: 1

Q.5

Ans

Select the option that can be used as a one-word substitute for the given group of words.

A person who thinks that bad things are more likely to happen or
who emphasises the bad part of a situation

25 1. Optimist

< 2. Complainer
" 3. Pessimist
< 4. Misanthropist

Question ID: 81616114115
Status : Answered
Chosen Option : 4
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Q.6 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

No sooner did Priya / get her report card / when she started jumping / with joy.
Ans X 1.No sooner did Priya

#5 2. get her report card

«" 3. when she started jumping
< 4. with joy

Question ID : 81616114096
Status : Answered
Chosen Option: 3

Q.7 Select the most appropriate meaning of the following idiom.

Lion's share
Ans X 1. The strongest and richest partner in a group
#5 2. The sound produced by a lion when it is attacking a prey
25 3. The part that must be left for the guests in a party

¥ 4. The greatest and most desirable portion of something

Question ID : 81616114214
Status : Answered
Chosen Option : 4

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. Shopkeeper: “Here, | have packed them all.”

B. Mala: “Please give me a packet of balloons, two packets of streamers, and some
candles.”

C. Shopkeeper: “Since we are offering some discount on the balloons, you need to pay only
thirty rupees.”

D. Mala: “How much do I need to pay?”

Ans X 1.DABC
< 2.CDAB
« 3.BADC
< 4. ABCD

Question ID : 81616112794
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate ANTONYM of the given word.

Conceited
Ans 1. Modest

#5< 2. Superior
25 3. Vain
< 4. Proud

QuestionID : 81616114213
Status : Not Answered
Chosen Option : --
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Q.10 Select the most appropriate option to fill in the blank.

Himank's health has ever since he has refused to get himself treated.
Ans X 1.depreciated

" 2. deteriorated
2 3. denigrated
< 4. disparaged

Question ID : 81616114120
Status : Answered
Chosen Option : 2

Q.11 Select the option that can be used as a one-word substitute for the given group of words.

The act or habit of talking in one's sleep
Ans X 1. Monologue

< 2. Prologue
" 3. Somniloquy
#< 4. Soliloquy

QuestionID: 81616114116
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate option to fill in the blank.

Use your logical thinking for decisions today as you will certainly succeed.

Ans X 1.desperate
# 2. critical

2 3. severe

< 4. dangerous

QuestionID: 81616114119
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate synonym of the given word.

Deride
Ans X 1. Lift

25 2. Admire

2 3. Approve
«" 4. Mock

Question ID: 81616114110
Status : Answered
Chosen Option: 2
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Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the

right order to form a meaningful and coherent paragraph.

A. They stopped at a village on the way to rest and drink water and found the entire village

had gathered to watch a weightlifter who was putting on a performance.

B. Tenali was very impressed and exclaimed, “You are very strong!”

C. With his big arms and bulging muscles, he picked up a 200-kg bag of rice with ease.

D. One day Tenali Raman and his wife were on their way to Hampi.
Ans X 1.DBCA

«” 2. DACB
/< 3.CDAB
2 4.BDCA

Question ID : 81616114209
Status : Answered
Chosen Option : 2

Q.15 Select the INCORRECTLY spelt word.
Ans X 1.Restaurant

#< 2. Referred
" 3. Reciept
25 4. Rhyme

Question ID : 81616112805
Status : Answered
Chosen Option: 2

Q.16 Select the most appropriate option to substitute the underlined segment in the given

sentence. If no substitution is required, select ‘No substitution’.

With magnifying glass, we can observe how minute insects like ants behave.

Ans X 1. No substitution
25 2. Using magnifying glass
< 3. By a magnifying glass
" 4. With a magnifying glass

Question ID: 81616114100
Status : Answered
Chosen Option : 4

Q.17 Select the option that expresses the given sentence in passive voice.

The boy's cricket ball broke the neighbour's window.
Ans & 1. The neighbour's window was broken by the boy's cricket ball.
25 2. The neighbour's window was broke by the boy's cricket ball.

#< 3. The neighbour's window is broken by the boy's cricket ball.

< 4. The neighbour's window had been broke by the boy's cricket ball.

Question ID : 81616114097
Status : Answered
Chosen Option: 1
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Ans

Q.18 Select the most appropriate meaning of the following idiom.

A live wire

«" 1. A very active or energetic person
< 2. An angry and bad-tempered person
< 3. An influential and powerful person

&5 4. A dangerous and evil person

Question ID : 81616114215
Status : Answered
Chosen Option : 2

Q.19

Ans

Select the most appropriate option to substitute the underlined segment in the given

sentence. If no substitution is required, select ‘No substitution’.

Suresh has only been working here since one month and he has already learnt the job.

«" 1. here for one month
2 2. here from one month
< 3. here ever since one month

#< 4. No substitution

Question ID : 81616114099
Status : Answered
Chosen Option : 1

Q.20
Ans

Select the INCORRECTLY spelt word.
#< 1. Teacher

«F 2. Proffesser
25 3. Director
< 4. Headmaster

Question ID : 81616112804
Status : Answered
Chosen Option : 2

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourism is a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 21
Select the most appropriate option to fill in blank number (1).

& 1in
< 2.by
X 3. at
o 4. of

Question ID : 81616112789
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourism is a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 22
Select the most appropriate option to fill in blank number (2).
25 1. at last

#5 2. at most
" 3. atleast
< 4. at much

Question ID : 81616112790
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourismis a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number (3).

Ans

& 1. many
/< 2. enough

2 3. less
2 4. much

Question ID : 81616112791
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourism is a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number (4).

Ans

" 1. contributor
25 2. quantifier
2 3. revolver

< 4. contractor

Question ID : 81616112792
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism is one (1) the biggest businesses in the world, generating (2) 200 million
jobs. It is vital for the economies of (3) countries. The downside is that tourism is a
major (4) of climate change through the carbon (5) it causes.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number (5).
Ans X 1.omissions

2 2. options
#< 3. variations

¥ 4. emissions

Question ID : 81616112793
Status : Answered
Chosen Option : 4
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